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PART - A
Language Proficiency
(Expected Answering Time: 20 Minutes)

Direction (Question No: 1-5)
Read the passage carefully and answer the questions that follow choosing the
most appropriate alternatives.

The dog is a very intelligent animal and it can be trained for many duties. Some dogs work with
the police and the army as sentries and trackers and there are medals that are awarded to dogs

for bravery in action. Other dogs act as seeing eyes for the people without vision and some
breeds are specially trained for rescue work among mountains and snow.

Jobs like herding sheep and cattle and guarding homes are also done by them. Whenever man
lives and works in the Arctic Circle, in the desert, in the jungle, in the moors or mountains, the
dog is his faithful companion and help. A common mongrel may possess these qualities just as
much as the aristocratic bloodhound.

1. The passage tells us that dogs
(1) can be trained to do different kinds of work.
(2) are capable of doing difficult work.
(3) are of different types.
(4) alone are a great help to man.

2. Medals are awarded to some dogs for
(1) their brave deeds.
(2) working with the police.
(3) serving as sentries.
(4) being able to perform difficult work.

3. The passage implies that
(1) only dogs are faithful but not man.
(2) man would have felt helpless without dogs.
(3) the dog has certain qualities that make it man’s trustworthy companion.
(4) dogs can do almost anything.

4. The phrase ‘aristocratic bloodhound’ in the passage means
(1) the dog kept by wealthy people.
(2) a pedigree dog.
(3) a dog fond of blood.
(4) any big dog.
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5. Which job is not assigned to dogs?
(1) Herding sheep
(2) Guarding homes
(3) Guarding children
(4) Assisting people without vision

6. Find out the correct sentence.
(1) Never did he speak the truth.
(2) Never he spoke the truth.
(3) Never he did speak the truth.
(4) Never he had spoken the truth.

7. Which of the following is opposite in meaning to the word Deficiency?

(1) Paucity

(2) Dearth

(3) Abundance
(4) Scantiness

8. Choose the correct form of verb to complete the sentence: We

dinner last night.
(1) had taking
(2) was taking
(3) have taken
(4) took

9. Copper is useful metal.
(1)a
(2) an
(3) the
(4) No article needed

10. One must live life with DIGNITY.

The underlined word means:
(1) Mobility

(2) Eminence

(3) Honour

(4) Rank

our
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Direction (Question No.: 11-15)

Read the passage carefully and answer the questions that follow choosing the most
appropriate alternatives.

There is nothing which adds so much to the beauty of countryside as water, be it just a little
stream trickling over the rocks or a little pond by the wayside full of water lilies and the birds
and butterflies hovering over the water. The rain fed tanks are common in rural India but they
are sadly neglected in their maintenance.

They are, of course shallow, but this is evident since the water is silt-laden and throws the light
back, and the bottom does not therefore show up. These tanks play a vital role in rural India not
only as a source of water for the primary purpose of the rural people’s daily needs but also easy
means of pisciculture, watering the agriculture fields and even for some religious rituals. Some
of these tanks are surprisingly so large that the views of sunrise and sunset over them are
inexplicably scenic beauty. The Kings and landlords during the medieval period had taken
initiative to develop these large tanks by public support as community water reservoirs.

11. What is the central focus of the passage?
(1) Availability of water in rural area.
(2) Importance of maintaining rural ponds.
(3) Significance of ponds in rural life.
(4) Scenic beauty of rural area.

12. Which is the vital role played by the rural ponds as per the passage?
(1) Fish cultivation '
(2) Watering the agricultural fields
(3) Observing religious rituals
(4) Use of pond for daily needs

13. The author speaks of scenic beauty of pond in reference to
(1) only blooming of water lilies.
(2) hovering of birds and butterflies.
(3) reflection of sunrise and sunset.
(4) play of sun-beams on the water.

14. Bottom of the pond does not show up as
(1) the pond is shallow.
(2) water is silt laden.
(3) it throws the light back.
(4) water is silt laden and throws light back.

15. Which of the following is not true as per the passage?
(1) Wayside ponds in rural areas look beautiful.
(2) People took initiative to dig big water reservoirs in rural areas.
(3) Large tanks can have the views of sunrise and sunset.
(4) Rural ponds are not maintained properly.
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16. Choose the word that has been correctly spelt.
(1) FOURTY
(2) FORTY
(3) FORTI
(4) FOURTEE

17. Choose the correct meaning of the idiom “A red-letter day”.
(1) A trivial day
(2) A very important or significant day
(3) A day of bloodshed and violence
(4) A gloomy day

18. Choose the most appropriate preposition for the blank space.
I saw him when he was standing the side of the old statue.
(1) by
(2)in
(3) beyond
(4) from

19. You’ve been making so much noise with your music that people at the far end of the
road can you.
(1) listen to
(2) listening to
(3) hear
(4) hearing

20. Which of the following is nearest in meaning to the word OBLIGE?
(1) Not helptul
(2) Rude
(3) Grateful
(4) Obligatory
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PART -B
Teaching Aptitude
(Expected Answering Time : 40 Minutes)

21. Which of the following is an indicator 21, R fseqy F & 1T FeAv-FAreror ¥ TUrET

of the quality of classroom teaching?

T T 7
(1) Standard of discipline maintained in (1) e § erqerme 7 T fAatg w2
the classroom
(2) Standard of question raised by (2) e § frenfeiay it e & g S e et
students in the classroom
ETIEISES
(3) Focus on good performers during (3) FeT H UTCEfw HAHAT F qHA =T
classroom interactions e T AT o S AT
(4) Pass percentage of students. (4) faemfd=i w7 S<hor wfdea

22. The quality of education in a school 22. Gl ﬁw fareT w:ﬁ,—q a7 fasic

mainly depends on

FAT 87
(1) Infrastructural facilities available in (1) : . :
the school A H IS AT FTHAAT T
(2) Adequate financial support (2) w=fa fa<i arrsd uT
(3) Quality of management support (3) TEHA-TEANT FT OET IT
(4) Teachers’ management of students’ (4) forert g fRentsat & sfemmm & waga
learning a7
23. A teacher is expected to do all except. 23, e ) STt s forers F ATaT
T T H qHAT

(1) participation in community activities (1) @rgETta sttt & anfar

(2) helping pupil to solve their problems (2) faenfd=t £ gueae w1 g A A
qEraT
(3) taking interest in local politics (3) =TT T § g
(4) sponsoring clubs and other school (4) F99 TH mwﬁnﬁﬁﬁm‘fqﬁwﬁﬁ
activities T
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24,

SUPW stands for 24

(1) Social Upsurge for Progress and
Work

(2) Scientific Utilisation for People and
World
(3) Socially Useful Productive Work

(4) Solution of Utilitarian Problems of
Work

. SUPW %7 7a¥« §-

(1) AT TS R TG T T%

(2) FrEfefrF gdhamesa wiT fioq ie T
(3) A=A gorpet Tefaed 7%

(4) TITET A TSI TTeerva A 6

25. Effective teaching means 25. goT fRreror T Hawa-
(1) Love, cooperation, sympathy and (1) faenfiat v fear S =TT 39, "4,
encouragement given to students .
SEEC RIS
(2) Corporal punishment to students at (2) = ooy F o et w7 ot
the time of moral offences =
(3) Individualized instruction and open (3) =afera fEer o< FedT § el ==7
classroom discussion
(4) Both 1and 3 (4) 1 3f 3 ==t
26. Students usually prefer teachers who... 2¢. Ramff gy Srel fRrerehf =t wHE L §, S
(1) give important questions before (1) T & TR HEgedqol I 39 8
examination
(2) are themselves disciplined (2) T T §
(3) dictate notes in the class (3) FATHAZT TG
(4) can clear their difficulties (4) fororaeg et STFTe T g A ©
27. The major characteristic(s) of an ideal 27, s srast farers e fAgroaTd -
teacher is/are
(1) Teaching the whole curriculum (1) & wrsr=at 97 e wT
(2) Helping his/her students in learning (2) srfaere & faerfeaT v agrar T
(3) Playing the role of a friend, (3) wH o, TreifAe o AnTesTs i s
philosopher and guide -
(4) All the above (4) S FHT qTQ
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28. At early stage of schooling, it is better 2§,

to use mother tongue as medium of
classroom transaction because it

(1) makes learning meaningful
(2) develops self-confidence in children

(3) helps in interaction with classmates

e # gTefws @ I T F qTew ¥
T 3 AT T STAT Fow IR ¢,
i

(1) zo& A gt graT
(2) zOF TFi | AT Ear @

(3) @€ TEUITAT & & sia:farar F F I
AT FTAT &

(4) all the above (4) I9dw T+t
29. National Council of Educational 29. Trgry $fdren sreree iR witreror aftws it
Research and Training’ was established
: ST T 27
in the year
(1) 1961 (1) 1961
(2) 1962 (2) 1962
(3) 1963 (3) 1963
4) 1964 (4) 1964
30. The most common indicator of quality 3¢, fererfier fRrerT S UrE=T FT ATHEE AT
of school education is x.
(1) Quality of classroom management by (1) Torere st et Trge & TorET
the teacher
(2) Achievement levels of students on (2) Fer-adero ¥ et £ suatey #71 &<
classroom tests
(3) The quality of classroom (3) FeAT-qTAer FT F=qX
environment
(4) Quality of students’ participation in @) T A wafafemt # fefE fi
school activities TR 7 T
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31. The degree to which a test measures 31, forg ¥t 7% € gdeor 37 <fror wr Ar9aT g
what it intends to measure, is called the & 7% ATYAT wTEaT &, S§ vl W ___ v
___ of the test. STt &1
(1) Objectivity (1) =Egsar
(2) Reliability (2) feraasaar
(3) Validity (3) Ferar
(4) Usability (4) STRET
32. The National Curriculum Framework 32, <rdir qra=at it w9%@T (NCF) ®e e
for Foundational Stage 2022 is e AR
developed by: T 2022 & e
(1) Central Board of Secondary (1) v qreafas foreT € (CBSE)
Education (CBSE)
(2) National Institute of Educational (2) TdT e qoET TF geTEA "
Planning and Administration ,
(NIEPA) (NIEPA)
(3) National Council of Teacher (3) TET gy foverr afvws (NCTE)
Education (NCTE)
(4) National Steering Committee for (4) ST UTEIEET ®9ET & g a8y
National Curriculum Frameworks .
NCF
(NSCNCF) T afafa (NSCNCF)
33. The concept of SUPW was proposed 33. SUPW #} geeaaT famess gy Searfad it 12
by: 7
(1) Adiseshiah Committee (1) srreafREr @@l
(2) Ishwar Bhai Patel Committee (2) TS Toe gAY
(3) Ramamurthi Committee (3) Tyl afafa
(4) Sampurnanand Committee (4) TEQUTIAR qiAfT
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34. Which of the following is the most

important factor affecting the
development of student’s personality?

(1) Discipline in the school
(2) Emotional climate at home

(3) Social orientation of peers and elders

(4) Inherited qualities of ancestors

34.

Rafafe & & 9 a7 feadf F=afra ¥
R #1 TR w91 FaE wgergol
FTCH &7

ORECIEEERCIEE

(2) =X FT HAGATHS THALT

(3) TASY AT TSI FT AT ATH AT
(4) AT & e o

35. For a teacher teaching a class with 35. T e v e § IgT T et =r
large strength, which of the following = A
techniques is the best? T 3 A e

RY?
(1) Debate, discussions, practicals (1) =re-fFare, ==, st 9T
(2) Group work with a lecture (2) TSI F AT ITTa-FT
(3) Lecture and class notes (3) =ATEAT SR A AT
(4) Self-study and asking questions (4) =TT 3T TT FLAT

36. Which of the following is NOT an aim 36, e favear 2023 ¥ forg NCF & @R #i-a1
of School Education according to the
NCF for School Education, 2023? e et fRre 7 <R <7
(1) Rational Thought and Autonomy OIEUEEREELE FE IREEL
(2) Preparation for a job (2) AR F forg &

(3) Democratic Participation (3) SATFATITH gEATHAT
(4) Cultural and Social Participation (4) TiEHias ST FTHTSE ATERT
37. Which of the following is the most 37. SfeeTH ¥ FYF-OT TATIATHT FICH §7
influential factor in learning?
(1) The qualification of the teacher. (1) fovers it T
(2) The resources available in the (2) =T | ST THTHA
school.
(3) Teacher’s empathy for the children. (3) fer=mfsiat & forg fovers i gt
(4) Teacher’s length of experience (4) fererh FT FFOT AT
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38. Education is in list of the 38. forwr Wi s K arfewr F
Indian Constitution. wTfe &)
(1) State list (1) TrsT qrferT
(2) Central list (2) FET arferRr
(3) Concurrent list (3) HAT ATIRTRT
(4) Supplementary list (4) SITITH qTrorT
39. Who is/are responsible for a student’s 39, TF RETfIRW TR R T w
failure to perform as expected? S Rrer e 32
(1) Student himself/herself (1) faemt e
(2) Parents (2) wrar-foaT
(3) Teachers (3) forer
(4) All the above (4) SUIE T
40. Which of the following are the most 40. SR A GETRE THTEOr HICEH HIT-9T §7
influential factors of learning?
A. Government Policy, B. Motivation, (A) Frdy A, (B) v, (C) sfvg,
C. Aptitude, D. Interest, E. Physical (D) ®¥, (E) i gﬁﬁl‘l‘@
Facilities
(1) A,Band C (1) A BsiRC
(2) B,Cand D (2) B,CsikD
3) C,DandE (3) C,DRE
(4) A,BandE (4) A BSIRE
1024/A 12|Page(PTO)



41.

A student wants to admit his mistakes 41,

before his teacher but at the same time
he is afraid of being punished by the
teacher. This condition is an example of

(1) Approach- approach conflicting
situation

(2) Approach — avoidance conflicting

uww et sroeft et i forers & qrre
HTAAT ITEAT &, I ¥E @7 § & ey Fovers
I R w7 AT Ruf v ST &7

(1) IYTH- IurTH A ot

(2) SUT-fgr A fufr

situation
(3) Avoidance-avoidance conflicting (3) ufEre-afEr e fufy
situation
(4) Avoidance-approach conflicting (4) IRgr-zurm B fafa
situation
42. To make teachers accountable for 42. frerreff srfermr € g2 & fversi i saErh
students’ learning, they should be given .
S . o ¥ forg I =T AT JTfRu?
(1) Freedom in the selection of content (1) faweeg sl freor-Bfemt & g3 4
and methods of teaching
(2) Training in teaching and examining (2) foreror e qveror & wiereror
(3) Opportunities for professional (3) Ffrra fasr  forg giFemt
growth
(4) Transfer to places where they want to (4) FTAT TEITIETT qATEA]
serve
43. Article 45 under the Directive 43. WA e § s F Ades Re=
Principles of State Policy in the Indian
Constitution, provides for.... T AT 45 T 4 e 87
(1) early childhood care and education (1) = 99 F F7 IF F ggr H ATAHF
to children below th f si
o children below the age of six years e St Sarrer i T
(2) free and compulsory primary (2) =teg @Ter T IY qF F agI BT 1 T
education to children up to age of Byt for
fourteen s
(3) free education for weaker sections of (3) BT F FHNT = & forw fA:gree fover
the country
(4) financial assistance to less advanced (4) F I ST A AT qgEar
states
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44,

45.

46.

‘Child’ in the Right of Children to Free 44,

and Compulsory Education Act 2009
means a male or female child ...

(1) of 6 to 14 years of age
(2) upto 14 years of age
(3) of 6 to 18 years of age

(4) upto 18 years of age

Children with special needs are 45.

referred to as children

(1) with disabilities
(2) of the disadvantaged social groups

(3) of the conflict affected areas

(4) all the above

The nodal agency for the 46.

implementation, monitoring and
valuation of Rashtriya Madhyamik
Shiksha Abhiyan (RMSA) at the
national level is .....

(1) NCERT
(2) NCTE
(3) NIEPA

(4) CBSE

e sl srfRard forer % g farg-arfare
gfefaw 2009 # gy # 1 sef w wEwT AT
weh Rraft arg-

(1) 63 14 a9 % AT gr
(2) 14 a5 qH 2T
(3) 6% 18 a9 & A=A 3T
(4) 18 a9 TF &T

A e @A AT Y T -

(4) S9ds @+t

TET @ 9 UEY qreafas e s
(RMSA) ¥ Frai=aa, fAvrar, sk gt &
g - o & Aew o F €9 # w1
T E?

(1) NCERT
(2) NCTE
(3) NIEPA

(4) CBSE
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47. Teachers often need assessment that 47.

compares a student’s performance to a
specific, well-defined content domain.
In this case, they employ

(1) norm-referenced testing
(2) formative assessment

(3) criterion-referenced testing

w% 1< fivg Y fveft Ry Rreg-am v @y
# ayt it Iuwfy 7 A w i I
T 1 Y Rty & & - B syt
e

(1) = Fafda aderor

(2) THATHS ATHAA

(3) wEs HEfa 90

(4) summative testing (4) THITHS AFAT
48. 'What should be the underlying 48. NEP 2020 ¥ 39 3o & forg sifers
principle for assessment according to .
NEP 20207 gt - &2
(1) Testing rote memorization skill (1) TS AT HTA 3 HI 7 AHeAT
(2) Encouraging learning of content (2) o F srfaem & Treare
(3) Optimizing learning and (3) it =it ¥ forg srfarm shx e
development for all students
EEEL
(4) Focussing on assessment of cognitive (4) HHATATHT FHEET & FHAT I AT
domains
49. Which of the following best reflects the 49, & FFeqi & ¥ F-971 e qarFT F
essence of teacher empowerment?
P T % gfa Far §?
(1) Allowing teachers to focus on (1) ferert =7 fAvtg o & gk & "< gu
teaching without involvement in .
decision making processes A T SFLATIT TG AT T
LA T AT AT
(2) Providing teachers with (2) ferermera & a& qor Aifa-Fetoor § gt
opportunities to actively participate STy 3 .
in setting school goals and policies ATt HT S A 3
(3) Implementing rigid guidelines and (3) frersht i T FT HiAT A T B
regulations that limit teachers’ . .
autonomy fRemfager st et 7 Fieaae HTAT
(4) Assigning tasks to  teachers (4) farerrt f Fafes mar qom AR |
irrespective  of their individual 5
strengths and limitations g R faAT e
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50. Indian Knowledge System (IKS),as 50, zrfra fover if¥r 2020 ¥ afifer st e
mentioned in NEP 2020, refers to

learning about T (IKS) FfE it At arg Fa &
T w82
(1) great western philosophies (1) SET 91T 2909
(2) knowledge as enshrined in ancient (2) yET e o & S| oa= &
Indian scripts e
(3) modern Indian education system (3) smyfae AT foreT =rEe

(4) education system of Medieval period (4) e B qepie fove sqaer
in India. ‘
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PART -C

Reasoning Ability

(Expected Answering Time : 60 Minutes)

51. What will come next in the following 51, 3% @R g Y g ¥ SETAT §9g T 8?
letter-cluster series?
ABC, CZE, EXG, GVI, ITK, ? ABC, CZE, EXG, GVI, ITK, 7
(1) KRM (1) KRM
(2) JSL (2) JSL
(3) TRM (3) TRM
(4) LRM (4) LRM
52. 1In a code language, HIDE = 13, and 52. Tt Fre - Wt H HIDE = 13, FEED = 10
f(‘)]f;ED =10. What will be MAKE equal & MAKE frer s & e 1T 2
(1) 17 (1) 17
(2) 13 2) 13
(3) 15 (3) 15
9 @ 9
53. The two words given below are related 53, #= Ry g AT T 9T 7 & =
o e, eS8 Ry 33 2
same way? ST W & qLE qaaa § ?
Steal: Borrow T IR
(1) Trespass : Enter (1) STTRHIT AT : T FLAT
(2) Kill: Punch (2) AT FLAT : YT AAT
(3) Speak : Tell (3) ATeAT : FEAT
(4) Think : Ponder (4) @r=eT : REe
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54. Which is the missing term in the given 54,

number series?

2,5,10,17,...,37,50

(1) 23
(2) 24
(3) 26

(4) 28

55. M is the father of N and grandfather of 55,

P. Q is the brother of P. Q’s mother R
is married to S. N is the sister of R.
How is S related to M?

(1) Son
(2) Son-in-law
(3) Brother-in-law

(4) Nephew

56. How many numbers are there in the 56.

following number sequence, which are
exactly divisible by 3 and are not
immediately preceded by an odd
number?

24, 33, 25, 27, 24, 36, 35, 45, 33, 38, 45,
15, 24,12, 18, 39, 29

T AT YEATH A - AT qAT X ?

2,5,10,17, ..., 37,50

(3) 26
4) 28
‘M, N FRTTIRPFaraag | ‘Q P

FEE QR AR B 'S IR
‘N RETGTgI 'S ‘M FTRTTETE ?

(1) ™=

(2) st

(3) St

(4) IS

T HET gEwt § 3 & fawrsy ey weamd &
e S T 1S g dear L | |

24, 33, 25, 27, 24, 36, 35, 45, 33, 38, 45,
15, 24, 12, 18, 39, 29

(1) 7 ) 7
2 5 (2) 5
(3) 6 3) 6
4) 4 (4) 4
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57. A man walks from his office 300 meters 57,

58.

59.

towards East and then turns right and
walks 400 meters. Again, he takes two
right turns walking 400 meters and 160
meters, respectively to reach the
shopping mall. What is the air distance
between his office and the shopping
mall?

(1) 170 meters

(2) 200 meters

(3) 240 meters

(4) 260 meters

If 5: 30 and 18: 342, then 12: ?

(1) 126
(2) 143
(3) 156
4) 210

Three of the following four word-pairs
are alike in a certain way and one is
different. Find the odd one out.

(1) Truck : Driver
(2) Hotel : Manager
(3) Machine : Operator

(4) Meeting : Audience

58.

59.

uF =Ry A wratery & FAwersc 300 e
7& Y S o ¥ are iR A< gEw 400

e STaT § | I A1E 9 2 X qfEA A
HEY §T AL 400 ;R 160 e 9o & I8
qrifefer wier o< qg=aT § | 99 FrEied S

aiffr A S fa frgas O A g?

(1) 170 e
(2) 200 =<
(3) 240 Hrex
(4) 260 Hiex

f*5:30,318:342,qr12:7

(1) 126
(2) 143
(3) 156
(4) 210

Hi=r o TR o=\ T Ry ywe
ITEIT GATH & T T I AeNT gl 9 SA
TeT-TFH F-aT &7

(1) z= : |ATa=*

(2) Bed : AR
(3) |efi : Afuex

(4) 9% : T
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60. Which two signs in the following 60.

equation should be interchanged to
make the equation correct?

20+16-12x6+3=25

W o § #-a &7 o i
AT HEHAT-AGAT FC YT g THIHC0r Gt &7
STE?

20+16-12x6+3=25

(1) +and + (1) + &+
(2) +and - (2) + 3T -
(3) tandx (3) + 3T x
(4) +~and— (4) =¥ -
61. Three of the four numbers given in the ¢1, = € 7 Fea= HF T 7 F RITTHFR Y
options are alike in a certain way and A
one is different. Find the odd number T S ol T T | TR il
out, P -y ?
(1) 225 (1) 225
(2) 196 (2) 196
(3) 256 (3) 256
4) 729 (4) 729
62. Six persons P, Q,R, S, T and U are 62. P,Q,R S, THTU s AT N ax g
sitting in a row facing North. R is to the , A
immediate left of T. Q is third to left of TCH T A A 45 % | R T Fqm@am
S. P is adjacent to S and second to the AT, SR ARQFAR =@ I, P 'S'F
left of R. Which two are sitting at the T H TR aTE AT ™ W -3
extreme ends? -
FATE & AT G I BT — FIT 9
g7
(1) Tand S (1) T3S
(2) Rand 8 (2) R¥IXS
(3) Qand T (3) Q=T
(4) Qand P @) QsieP
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63. The two letter-clusters on the left of the ¢3,
sign ::’ are related in a particular way.
The same relationship holds for the two
letter-clusters on the right of the sign
¢::> of which one is missing. Find the
missing one.

BFD : GKI:: LRO:?

(1) QWT
2) TXV
(3) SYV
(4) PSQ

64. The numbers are arranged according ¢4,
to a certain pattern in the following
figures. Which number will replace the
question mark?

TIBa praR
27|19 | |48 18 | 2

(1) 12

2) 20

(3) 16

4) 8

2! g ard i R g O s g O
o e ¥ gafm € 4 Reg 6 afR+h
AT & QAT AT g WY ATET &7 & 7K
Hafeaa & T o8 & F e g | Ry g
et & & T T §; 99 A Mo

BFD:GKl::LRO:?

(1) QWT
@) TXV
(3) SYV
(4) PSQ

= & % sl § & 7€ qewrd o R
fafer & goms 1 {1 St smeR w) e deET
wETE g H s T ST awar 82

81 Loled| |72
27|9 | [248 18 | 2

(1) 12

(2) 20

(3) 16

(4) 8

1024/A
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65.

Every minute the flowers in a pond get g5,

doubled. If the pond was full with
flowers in one hour, when was the pond
one-fourth full?

feft areme & gt i EwET g T R A
Y & T § | AR O we e gt @
T T WX Y &Y frer wwe avere o e
T EAT?

(1) at 55" minute (1) 55 % fme =
(2) at 30" minute (2) 30 % fme o
(3) at 15" minute (3) 15 % e o
(4) at 58" minute (4) 58 % e wT
66. Which is the missing term in the 66. TEqT AT IE F AT F AT 7@ gE@AT H A
following alpha-numeric series?
~ATIE AT § ?
A3B, CS8E, F151, J24N, ?, U22A
A3B, C8E, F15l, J24N, ?, U22A
(1) 036U (1) O36U
(2) P37U (2) P37U
(3) O35T (3) 035T
(4) Q25V (4) Q25v
67. Four persons, A, B, C, D, who visited 2 ¢7, g7 q1<ema % TF S WX WA A<
place of murder were interrogated.
Everyone mentioned the page numbers R — A, B, C, 3 D, & qgaTy #it ¥ | &+t
of a book which was lying open at the J AT U T T = 7y SeT
murder scene. The page numbers T T . = .
reported by the persons are given in the TATE | ITh GI AQqTE T TS &edrd g #
parentheses as under. e gl
A (61, 62); B (64, 65); C (66, 67);
( )i B (64, 65); C ( ) A (61, 62); B (64, 65); C (66, 67);
D (68, 69)
Who among the four was lying? D (88, 69)
I A § IT B 872
) A (1) A
2) B (2) B
3) C 3) C
4 D 4) D
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68. Three of the following four terms are 8, 1= fr& a7 ¥ § 7w RAAT THFR A

alike in a certain way and one is 33
different. Find the odd one out. T & t’ = T AT 3 A T

L
(1) H9Q (1) HOQ
(2) D5J (2) D5J
(3) J11U (3) J11U
(4) L13Y (4) L13Y

69. 1In a row, Bikash is 7" from the left and 69, s Fa ¥ R 18 A< ¥ 7 F hw sy

Ankur is 16" from the right. Shweta is i &
exactly in the middle of Bikash and TR AT 16 F T TR AT R

AnKkur. If Bikash and Ankur IFT i # g1 I B i sige v TR

interchange their places, Ankur would : : :
’ FT T o , qY SFT ATRAT A< F 26 F worer
be 26" from the right. How many

persons are there between Shweta and T ERIT| AT S 3 F o= F faberer 07 2

Ankur?
19 (1) 9
(2) 4 2) 4
(3) 7 3) 7
4) 5 4) 5

70. Four boys A, B, C, D are friendly with 70, A B, C, siDaRiss®i®TP,Q,R XS

four girls P, Q, R and S. One boy is . N
friendly with only one girl. A does not T AT & ST EE § | T A A

like P and R. C does not like Q. B is R Hahadwmmaagg AP 3R
friendly with S but D is not friendly R # 7&F STgaT | Q #Y C &f Seen B#7 S
with R. Who is D friendly with?
TRAAATH IR D FTRA AT & |
‘D’ %7 T Gy fFear g ?
(1) S 1) S
(2) R (2) R
3) Q (3) Q
“4) p 4) P
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71. There is a bag containing 3 pairs of red 71, & && % 3 Sy#Y &7, 4 Y vy o< 5 SNt
socks, 4 pairs of black socks and 5 pairs -
of white socks. AR
What minimum number of socks a eI s TF AR w A A
blind-folded man should take out of the 7 & T T T Frrer SR aTn A ¥
bag to ensure that there is one pair of ]
the same colour? TF &1 5T 7 Y SIS T AT T Q2
(H) 3 (1) 3
2) 4 2) 4
35 (3) 5
N 4) 6
72. The figures in the following series 72. = grEe Y srpfaat T @Ay Gfw & s
progress in a pattern. Which of the ; Ryt &
option figures would replace the g | e & AT AT »
question mark in the series? gaeT § HiSE wETEE w R w et
T AT ?
(1) p (1) P
2 Q 2 Q
3) R 3) R
4 S 4) S
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73. In the given diagram, the triangle 73. ¥ arem ¥ e, ‘wfoAamEt w1, 9 ST

ftflnds f:)r ‘actors’, the circle stands for #7 A< T FETEE 7 T t' S ———
singers’ and the rectangle stands for

‘directors.” The numbers in different WAt &, IofRed Rt fi deur & T )
sections indicate the number of

persons.

e e, srfSmar § o s 71 ?

How many directors are actors but not

singers?
sfaaran
- G
Actors > 113 4 & Singers
3 _
5 farders

10 8 l«— Directors

6 |7~
9\ 12 /5

N

23

(1) 23 (1) 23
(2) 29 (2) 29
(3) 16 (3) 16
@ 1 4) 11
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74. Three statements are followed by three 74

conclusions Assuming the statements to
be true, decide which of the
conclusion(s) logically follow(s).

Statements:
1. All rocks are mountains.
2. No mountain is hill.
3. Some hills are forests.
Conclusions:
I. No forest is mountain.
IL.No hill is rock.

III.Some forests are mountains.

(1) Only I and II follow
(2) Only I follows
(3) Only II and either I or III follow

(4) Only 1I follows

i FuAT F qrg 7 Frord Ro g § 1 R
AT 1 g AT A T AR F AT &
o e s T I ITgF TR E ?

T —
1. Y eI 9T §

2. FE AN da e T g
3. T TETE S §
o

|. FE ft ST o L
I1. g Y TgTE I AET
Nl . = Strer 99 § |

(1) et | 37 |l STIF & |

(2) F=e |

(3) el | 9T | 3 I & | F1E TH
(4) Fa=ll

75. A statement is followed by two 75. TH F9A ¥ 912 & Ao Ruag § | 7w fifvg
conclusions. Decide which of the Srers aTh
conclusions logically follow(s) from the i T & FT F IR
statement. g |
Statement: Pollution is a menace
associated with fast-paced FA — T T &9 SAEEREE
industrialization in country X. g a1 i & gaffaa g 1
Conclusions -
I.All the cities having industries are
polluted. 1.3 avft rge wgfue & omH s €
I1.Country X may become polluted in Il o7 WS & wafe g aFar &
future.
(1) Only conclusion I follows (1) Fae |
(2) Only conclusion II follows (2) Fa
(3) BothI and II follow ORE L
(4) Neither I nor II follows ORENEGEIEGE]
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76. Which of the following Venn diagrams 76. % R g 37 - vt # ¥ v & =,

best illustrates the relationships among

Sportspersons, Cricketers, Runners?

o
@)) OO (
x. ' J \
p Q
(1) P
2) Q
3) R
4 S

77. The two figures on the left of *::” are
related in a certain way. The two
figures on the right of ‘::’ are related
the same way but one of the figures is
missing. Find the missing figure from
the options.

e 3T g% ¥ sadY Ty 7 SR aar
JoaT 87

R S
(1 P
2 Q
3 R
4) S
2 g 9 A & i it ww R
¥y gataa g | 1 g i @i e it
AT et ot agEw & & e dafaa

g, 3 3% ¥ wh e § | Ry g B #
¥ 39 e Rwrfe

(1)
2)
3)
“4)

wn om O~

(1)
)
(3)

(4)

“w XV O U

1024/A
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78. Train A leaves the same station in the 7§, FWATHROATFTBHRAMIEAF 1 5
same direction 1 hour after train B
e T R § @AT AT g, W AR B &

leaves with a speed five times as fast as

that of B. After how long of A’s gl AT Stferer {1 A ¥ et 1 & e e
departure, will A meet B? aZ A, B ¥ freef?

(1) 17.5 minutes (1) 17.5 fo=e

(2) 15 minutes 2) 15 e

(3) 12 minutes (3) 12 favwe

(4) 18 minutes (4) 18 fame

79. How many triangles are there in the 79. T fa A fhaw P §2
following figure?

(1) 18 (1) 18
(2) 20 (2) 20
(3) 22 (3) 22
(4) 24 (4) 24
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80. Two rotated positions of a cube are 80. T T HrAY W T Rt & t' TR

given below. Which number will be at )
the bottom if ‘4’ is at the top? FUT 4 T A A A=t droam gRfi?

(1) 2 1) 2
2) 3 @) 3
3) 6 3) 6
4 s @) 5
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